Preparing for your exams

® Q
]
Faper 3, Secion A: Queftion 1
Study Source A on page 100. E .
1
Give two things you can infer from Source A about how Hitler SOEEED
kept power. Make two inferences and choose details
Complete the table below to explain your answer. (4 marks) from the source that directly support them.
The examples below give only the first
inference and support.
Average answer
What I can infer: The inference is c.or.rect, but the detail
Germany had suffered many severe problems, which Hitler helped BIvED 1o SUpPOLEILEs atimm the
rce.
to solve, L
Details in the source that tell me this:
The Treaty of Versailles was unfair and unemployment went up in
the Depression.
Verdict | %,
th
This is an average response because an inference is made, but without appropriate support. 3 "
Use the feedback to rewrite this answer, making as many improvements as you can.
Strong answer
What I can infer:
Germany had suffered many severe problems, which Hitler helped
0 solve. Details are given that support a correct
inference.
Details in the source that tell me this:
Source says that Hitler ‘saved his country from utter despondency
and degradation’.
v&rdict ............-..-....................-.....................-.........
2
)
This is a strong response because an inference is made and supported by the source. ‘7:’.
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